




  (10)  .1

 (10 x 1 = 10 Marks)   (1) 
 (200)  (4)  (7)  .2

(4 x 5 = 20 Marks)  (5) 
(500)  (3)  (5)  .3

(3 x 10 = 30 Marks)            (10) 



1 
  ------------  PerformanceEquipment i.

(Catastrophic failure/Degradation failure)

  ---------  Equipment ii.

 (Wiring Diagram/ Cross-sectional Diagram)

  ---------------  Failure  life  .iii

(Early failure/ wear-out failure)

 Remove  .iv

 / 
------------  Zero Ohms  Short Reading  .v

(Good/ Dead)  
 /   Oscilloscope  .vi
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(Resistor/IC)   -----------Logic Clip .vii

 /   Leakage CapacitorDigital multimeter .viii

(Diode/FET)            Film Puncture .ix

Low -State  High- State  oscillating signal  -------------- .x

(Logic probe/ Analog multimeter)  Alternate 


  Faults  .2

   Safety Precautions  Capacitor .3

 .4

  



 Diodes .5

 multimeter  Resistor  .6

  Symptoms  Equipment  Equipment failure .7

  precautions  IC's  Static electricity .8



 .9

 General Troubleshooting Procedure Equipment  .10

  Bipolar Transistor .11

  IC's  Pulse Generator  .12

  Failures  Equipment .13


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